Examples 2.5: Matrix multiplication
General example of multiplication, rows of the left times columns of the right:

1-7+2-11 1-84+2-12 1-942-13 1-104+2-14
=(3-7+4-11 3-8+4-12 3-9+4-13 3-10+4-14

7T 8 9 10}
5:-7+6-11 5-8+6-12 5-946-13 5-10+6-14

1 2
54|
5 6 11 12 13 14

Size must match:

;jg; [78910}
5 6 67 11 12 13 14

1-7+2-114477 1-842-124477 1-942-134477 1-10+2-14447-7
=|3-7+4-11+577 3-8+4-124577 3-9+4-134+577 3-10+4-14457-7
5-746-11+677 5-84+6-12+677 5-9+6-13+677 5-10+6-14+67-7

= nonsense;undefined

Some matrices don’t change anything (identity matrix):

1 0 0 0] (11 12 13 1-114+0-21+0-314+0-41 12 13 ... 11 12 13
0 1 0 0] |21 22 23 _{0-11+4+1-214+0-31+0-41 22 23 ...| |21 22 23
0 0 1 0] |31 32 33 - 10-1140-2141-31+0-41 32 33 ...| |31 32 33
0 0 0 1| |41 42 43 0-11+0-21+0-31+1-41 42 43 ... 41 42 43

Examples 2.6: Matrix inverses
Sometimes we want to divide matrices: Solve for X in AX = B. Use RREF(A|B) = (I|X).
If A=[12] and B = [} 9], then solve for X in AX = B.

1 211 0 Ry—3R; 1 2 1 0| Ri—2m, 1 0 7T =2
3 710 1 0 1/-3 1 0 1/-3 1

Check that X = [j3 _12] works:

IfA:[(lJ%i} andB:[%%?}7thensolveforXinAX:B
001 222
1 2 31 2 3 1 23/ 1 2 3
001 4|1 1 1 | B2t g 1 o] 7 —7 —7 | B3,
00 1|2 2 2 00 1] 2 2 2
1 2 0]-5 —4 — 1 0 0] 9 10 11
1 0| -7 —7 —7 | B2 g1 0|7 -7 —71
01| 2 2 2 00 1] 2 2 2
Check that X = [ —97 lo? 117 works:
L2 2 2
1 2 3/ [9 10 11 1-94+2-(=7)+3-2 1-10+2-(=7)+3-2 1-1142-(=7)+3-2
AX =10 1 4|-|-7 =7 =7 =10-941-(=7)+4-2 0-10+1-(=7)4+4-2 0-114+1-(=7)+4-2
00 1 2 2 2 0-940-(=7)+1-2 0-104+0-(=7)+1-2 0-114+1-(=7)4+4-2
1 2 3
=11 1 1| =8B
2 2 2
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Quiz on 2.6 (and 2.5): Matrix division

1. Find the inverse of the matrix

Q
I
O O =
S =N
—_ s W
9
—
I

2. Solve AX = B for X (and check your work) when

12 45 6
A‘[Q 3} B_{7 8 9}

3. Is A+ B defined? Is A — C defined?
Is A - B defined? Is A- C defined?
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Activity 2.5: Matrix multiplication

1. What size is ABif Ais 2 x 5 and B is 5 x 137

2. What sizeis A+ Bif Ais2 x5 and B is 5 x 137

3. What sizeis A+ Bif Ais2 x5 and B is 2 x 57

4. What size is ABif Ais2 x5 and B is 2 x 57

5. If AX =B and Ais 3 x 3 and B is 3 x 7, what size is X7

6. If A has 3 rows and AA is defined, how many columns does A have?

7. If AA = A? is defined, must AAA = A3 be defined? Explain why or give an example where
it is not defined.

8. If AB is defined, must BA be defined? Explain why or give an example where it is not defined.



Activity 2.6: Matrix division

1 -2 5
Find the inverse of A= |0 1 —4| by using row reduction:
0o 0 1
1 -2 5|10 0
[ A ‘ 1 } =10 1 —-4|0 1 0
0o 0 1]0 0 1
=[1]a]
1 2 6 5 4 . .
Solve AX = B where A = and B = by using row reduction:
2 3 9 8 7
1 2|16 5 4
[AB}[Z 3987}
=[1]x]
Check your work: _
1 2] _ _
2 3 a a




